Ju Ching Chu Secondary School (Kwai Chung)

F. 6 Vocabulary Quiz – May 

(A Phrase A Day – April 2005)
1. He ________ with his friend to sell drugs.

A. conspired   B. served   C. contributed   D. placed

2. Fear of being caught acts as a ________ to breaking the law.

A. treatment   B. deterrent   C. medium   D. remark

3. We don’t like her arrogant manner. She is …
A. violent and selfish      B. unkind and ambitious  

C. rude and too confident   D. wicked and shameless

4. It’s not a feasible idea. It …
A. is practical   B. is impossible   C. can’t be defeated   D. can’t be done

5. The rent must be paid ________.

A. in advance   B. in advances   C. on advance   D. on advances

6. She lays great stress on punctuality.

A. She feels nervous about it.

B. She aims to change it.

C. She puts great force on it.

D. She regards it as very important.

7. The road is congested. The road is…
A. blocked   B. flooded   C. crowded with vehicles   D. under construction

8. The accident was caused by human error. ‘human error’ means …
A. a mechanical failure       B. a person’s mistake   

C. natural destruction  

  D. somebody’s negligence

9. The government has ________ plans in case there is bird flu.

A. contribution   B. consumption   C. congestion   D. contingency 

10. There was a change in the laws _________ road safety. 

A. with regard   B. with regard to  C. with regarding to   D. with regards to 

11. He has worked too hard. He will burn out.

A. He will make himself ill.          B. He will suffer great pressure.

C. He will lose his job.


   D. He will become impatient.

12. With no one to keep order the situation in the classroom was ________.

A. unfit   B. inconclusive   C. chaotic   D. feasible

13. The company was found to be in breach of environmental regulations. ‘in breach of’ means …
A. breaking   B. neglecting   C. obeying   D. fulfilling

14. There was a surge in electricity demand at 7 pm.   ‘a surge’ means …
A. a fast change   B. unexpected drop   C. a sudden increase   D. an abrupt collapse

15. The teacher praised Tom for showing great restraint. Tom was

A. calm and controlled.  B. polite    C. kind and helpful   D. diligent and improving

16. He was found guilty of negligence.

A. He had done wrong.           B. He had not done wrong.

B. He cheated people of money.    D. He was caught in the scene of the crime.

17. The trade agreement helped to strengthen the ________ between the two countries.

A. term   B. situation   C. treatment   D. ties

18. His fingerprints on the gun were ________ proof of his guilt.

A. contingent   B. conclusive   C. inconclusive   D. ceremonial 

19. All the arrangements should have been completed prior to our departure. ‘prior to’ means …
A. at    B. by   C. before   D. after

20. He had the fixed ideas that a woman’s place was in the home. The word ‘fixed’ can best be replaced by …
A. wrong   B. firm   C. misleading   D. biased. 

21. Hong Kong Disneyland is hiring three thousand frontline staff. Most workers will get an above-average monthly salary of ________.

A. $ 7,000   B. $8,000   C.9,000    D. 10,000

22. The Hong Kong-Zhuhai-Macao Bridge Advance Work Coordination Group recommended HK-Zhuhai-Macao Bridge would land in San Shek Wan of _______ Lantau.

A. southeast   B. southwest   C. northeast   D. northwest

23. The Environment, Transport and Works Bureau proposes to increase the fixed penalty for jumping red-light from from $450 to ________ to create a stronger deterrent effect.
A. $600   B. $800   C. $1,000   D. $1,200

24. According to a new study, some dim sum items are high in fat and ________.
A. sugar   B. lead   C. calcium   D. sodium 

25. Fares to Disneyland by MTR will cost between _______ for a single journey.
A. $5 and $22   B. $6 and $ 26   C. $8 and $30   D. $10 and $40
End of Paper
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F. 4 Vocabulary Quiz – May 

(A Phrase A Day – April 2005)
1. He ________ with his friend to sell drugs.

A. contributed    B. served    C. conspired   

2. Fear of being caught acts as a ________ to breaking the law.

A. deterrent   B. treatment  C. medium   

3. We don’t like her arrogant manner. She is …
A. violent and selfish  

B. rude and too confident  

C. unkind and ambitious 

4. It’s not a feasible idea. It …
A. is practical   B. is impossible   C. can’t be done

5. The rent must be paid ________.

A. on advance   B. in advance   C. in advances   

6. She lays great stress on punctuality.

A. She feels nervous about it.



B. She aims to change it.

C. She regards it as very important.

7. The road is congested. The road is…
A. crowded with vehicles   B. flooded   C. blocked   

8. The accident was caused by human error. ‘human error’ means …
A. a mechanical failure       B. a person’s mistake   

C. natural destruction  

  

9. The government has ________ plans in case there is bird flu.

A. contribution   B. contingency   C. consumption 

10. There was a change in the laws _________ road safety. 

A. with regard   B. with regard to  C. with regarding to   

11. He has worked too hard. He will burn out.

A. He will make himself ill.          B. He will suffer great pressure.

C. He will become impatient.

12. With no one to keep order the situation in the classroom was ________.

A. unfit   B. inconclusive   C. chaotic   

13. The company was found to be in breach of environmental regulations. ‘in breach of’ means …
A. neglecting  B. breaking   C. obeying   

14. There was a surge in electricity demand at 7 pm.   ‘a surge’ means …
A. a fast change   B. unexpected drop   C. a sudden increase   

15. The teacher praised Tom for showing great restraint. Tom was …
A. calm and controlled.  B. diligent and improving    C. kind and helpful  

16. He was found guilty of negligence.

A. He had done wrong.           B. He had not done wrong.

B. He cheated people of money.   

17. The trade agreement helped to strengthen the ________ between the two countries.

A. term   B. ties   C. treatment   

18. His fingerprints on the gun were ________ proof of his guilt.

A. contingent   B. conclusive   C. inconclusive   

19. All the arrangements should have been completed prior to our departure. ‘prior to’ means …
A.by   B. after   C. before

20. He had the fixed ideas that a woman’s place was in the home. The word ‘fixed’ can best be replaced by …
A. firm   B. wrong   C. misleading  
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